\\\\\\\\ 8 __
[l LY
\L\FA\nowf\TL\\_\Et
| | | | | | |
— 4 -+ -+ - —l- -4
| | | | | | |
- t-ft-t-F - -I=-—-1-4

|

T

|

(3.0)

3

@ B(-3,0)
® E(3,-4)

@ A(3,1)
@ D(-2,-3)
C(0,3)



2. 29 Wb >0 @5y = 2x 9 T RE FEFESIo] 12
A B AREE AL

@Araes @ A2zARR @ A4aed
@ A 1L3ARE @ A2 4429

x9 WL x>0 D W, y = 2x O AW A 1 ARES
At




4y =ax(a#0) 9 2T A (2,4) 5 AL o, a 9] G2

D 1 @)2 ® 3 @ 4 ® 5




7 kgt 2

i

stofzt.

<]

.?_

[e]

= ax 9 1d

oF y
A= a O 7k

[

4.

— ™

.

ul
KO

el

7} (3, 1)

==

i

°

Ik

o

=

°ﬂxz3,y:1




4y = ax(a 0) 9 1= A (-3,-9) 5 AL 0], a 9] FHL?

® 1 @2 ©)s @ 4 ® 5

(-3,-9)E y = ax(a # 0) °f| tHYsIH
-9 =-3a

La=3




2y=
ax
_q]
a
o
ot
. a
9
#k
29

@
2
@
3
® 4
@
5
®
6

'yl




_ 1 —
7. xoFelx>0d W, T y=-= 9 Qs VEH?
X

=
.

0]
©)
®

o
n

y= - & A 2RI A AR 9o Ak o,

x>0°]|Bg Jfx= @olt},




n
o
+
o
I
)

D 11 @ 13 @15

@ 17

xShy =29 2% Ao 4 (2, 6) 7 A& W atb

® 19

y=ax°x=2, y=6E5 tY4stH
6 =2a,a=3

b -
y:;q]xzzy:ﬁ%—ﬂ%%}‘ﬂ
b
6=—, b=12
2

La+b=3+12=15




9.

=

o 2 nE a
SHLy=_"daf @tz A

F-shoiet.
Iy
ol

o

vV V
0
il
o

gz

st A (2, 3)& A, YA tiste] A<l g o

ZHolmz =2 e E s
y=2olx=2y=3& dHAA a=6 oIk




o
~

7t g 13}

o] J#=

4
X

Ty
o, q O] Zk

T
=}

(sl

10.

sholat,

e

ul
Ui

RO

2w, 2 — 2o|BE 4= 20|t}

o]
H




11.

3k

@ -5 @—6 ® -7
@ -8 ® -9

Ty = b e B ), a9 L2
X

y==7t4 (2-3)& AE2 -3 =

N Q

., a=—6°]t}.







13.

y = ;(a # 0)9 IIHZIF = A A(4,3), y

B(-2,b)E Ad ], b2 gh= F5HH? K
A
3__- I

@ 8 @ -8 ® 6 -2

@—6 ® 10 :

y= %7}@ (4,3)2 AYnE 3 = E—I,a: 120]3, h= —=, b =
—6011:]'.




Ak
oo
4
)
2o

S19] 5 7 A,B Aol9] Az?

_1_?.__
A B

-4-3-2-101 2 3 4 5 6

@ 2 @ 4 ® 6 @8

® 10

= 3 Aolo] A 5 (-3) = 8ol




15. o5 A FolA Al 4AREH Sl = S At

@ (3, 3) © (-1, =7 ® (2, —376)
@ (-120, 3) @ (5, 0)

> E
> 3! ©
xFBEE FF, yHEE S0l Al 4AREH S Hold




16. % P(-2a, b)7t Al 1A 92 o), ohe 5 o2

He?
© (a, -b) @(—a+b, a) ® (g
@ (a, ab) ® (a-b, ab)

B

P(-2a, b)°A —2a >0, b>0

T2t a<0, b>0

@ (a, =b):a<0, —b<0(A 3AFEH)

@ (—a+b, a):—a+b>0, a<0(A 4AHEH)
® (g a) : g <0, a < 0(A 3AHEH)

@ (a, ab) : a <0, ab < O(A| 3AHEH)

® (a—b, ab) :a-b <0, ab < O(A 3AFEH)
JHEZ QO Al 4AHEH 2] Holtt,




17. A Pla, b)7H A 24120 FQ w,  Q(-a, — )= B AR

©® ol AR E 45t4) gt

.

a<0, b>0022
-a>0,-b<0
whatd] A 4AHE ol




18.

a<0,b>08 3 (a-b, ab)= Al 2 AHEHL] H7}?

® A 14 @ A 245w
(© R EREE @ A 4245w

® y% $19] dole.

a<0, b>091BE2a-b<0,ab<0
A SAFER S




19. A A(a, b)7F Al 4420 AL o, o= 5 Al 1AR29l 2le A

29
® P(b, a) @a(, -b) ® R(-a, b)
@ S(b, —a) ® K(-a, -b)

B

a>0,b<0

@ P(b, a):b<0, a>0: A 2AHEH

@ Q(a, =b):a>0, —b>0: A 1AHEH
® R(-a, b): —a<0, b<0: Al 3AHEHA
@S, —a):b<0, —a<0: A 3AEH
®K(-a, —b):~a<0, —b>0: A 2AEH




=3 oN_ 7
2 2 1
®y_§)1€ @y——gx @y—ix
@ y= —5% ® y=2x
AL A= AMo|BR y = ax(a £ 0)
(-3,2)2 AYBE 2 = 34




ShAs
21. o= S xo#ol-2, -1, 1, 290 &=




iu)
o
ol
=
4
=

I

|

= ot

y= —2 o] TemE A (5,-1)2 AL A 2, 4AFEH S

ooz J8Ac)




y= 2 o 2REE A (-2,-3)& AL AL AR 9]

gEAdeR I3,




yl\
3_
ot =
@yzg @ x+y=3 @ y=3x
3
@ y=x @DYZ;

y=2@#0)lx=1,y=3& A3 =12
a=3

3
Ly =-
X




25.

A g9 vl A A(-2, 2), B(-2, -

2149 ZAZol B w, x, y o S 22zt Fatolel,
> £

> E

D AE: x=2

D AE y=-2

B

2), C(x.y), D(2,2) 7 At

A A, B, D2 #ugHo] e @ o83} 2o,

YA
A—2 D
=3[ 0 P

1
1
Bt ---+C

olwl, AlZ}d ABCD 7} A ApzHaol] 7] $15k
A C o Hu= C@, -2) ol
Y H=2 ==

oflh




26.

_ — 1 _
@y =axcd AL A (5, 4) BT W, B8

y
I 94 H (m, ) F m, n o] BF 3541 o] A58 Totolel.

i

> = 4l

> =e 1671

1 -
yzaxoﬂ)c:g,y:—zl%m%!s}@

Sy =——
X

24 9] of9) A= 8ol B R
(B9 Aol A%) =8x2 =16 ()




27.

1 1 3 5
©-; @-; O-7 @-l ®)-2
3 o ol=s
yz)—coﬂxza,y:GEEHao}“E
6:§,a:1
a
y=2elx=-2, y=b+1& Yt
5

b+l=-2, b=~

1 5) 5

“b—§><<‘§ =71




28. H A(a-2, b+3) 0] xZ <o) AT, A Blat5, —4b) 7ty % 9]
e, d A, B HEE A7} HL5HH?

S

@ A(-7, 0), B(0, —12) @A(—?, 0), B(0, 12)
® A(-2, 0), B(0, -3) @ A0, -5), B(-4, 0)
® A0, -7), B(-1, 0)

~&B ‘

HA(a-2, b+3) ol x % 9o glong
b+3=0,b=-3
HB(a+5, —4b) 7ty = Sl JleB=
a+5=0,a=-5

5 A(=7, 0), B(0, 12)




29. x5 flofl AL, xFHF7F 59 Hof FHEE?

® (-5,-5) @ (0,-5) @)(-5.0)
@ (0,5) ® (5,0)

x5 flofl AL, x 277 -5 H O] HFE= (-5,0) °lH




30. a2 gl et dgoltt. &4 ¢

@ 7t2Ee cZolat gy,

@ Mlz5<Z y=olzt otk

® FHEZo| ofato] ) HE o 1




31. x = 9l A3, x 373 A Hof HE=0

@® (3, 3)

@ (0, 3) @0
@ (0, -3)

® (-3, 0)

x % Foll e Sy HE70 0B R,

xFE7F 3ol y FHIL0 2 Ho HEE oW (3, 0) o[t}




32. y& Yl 2, yFEIF 29 Ao HEE (a, b)) T W, a-b 9]
< Totofet

> E:

> e -2

700l BR, x2H3E7E00] 2L, yFHT}
™ (0, 2)°|tt.




H A(-2,3) ¢ xZol diste] g2l Mg Bt sk y ol disto
A & Cet g o, AABC 9] Hol=?

@ 10 (@)12 ® 14 @ 16 ® 18

A(-2,3) 9 xZofl tiet thid 2 B(-2,-3), y=oll gt tidd

1
£ C(2,3)°122 AABC = 7 x4x 6 =120]t}.
y
A g C
=) 0 2z
B"_'?;_"':




